14

Do not write
outside the
box

17 Here is a map of an island with cities A, B and C.
The straight lines represent roads.

Scale: 1 cm represents 200 km

N

17 (a) A is due West of B.

Write down the bearing of A from B.
[1 mark]

Answer

1 4
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15

Do not write
outside the
17 (b)  Umar drives from A to B on the route shown. box
Kaz drives from B to C on the route shown.
Use the map to work out how much further Umar drives than Kaz.
You must show your working.
[5 marks]
Answer km
Turn over for the next question
6

Turn over »
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